Area And Perimeter Of Composite Figures

" Let us revise area and perimeter of the following figures: square, rectangle,

triangle and circle.
Perimeter of closed figure with

o A side of the square is 6 cm. straight sides = Sum of its sides

6 cm
6 cm
Perimeter = X
— cm
Area = X
= cm?

o The rectangle has length 9 cm and breadth 7 cm.

7 cm
9cm
Perimeter = + + +
— cm
Area = X
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a
h 10 cm .
Perimeter = + +
= cm
Area = X X
= cm?

o The circle has a radius of 7 cm. [Take 7r=£72~J

Circumference = 7 X

= cm

Area = 1 X X

= cm?
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o Find the area and perimeter of the figure.

S5em

This figure can be divided
into a square and a
rectangle.

8 cm

3cm

10 cm

5cm

5cm

5cm
8 cm :

3cm 3cm

10 cm 10 cm

Side of square = 5cm
Area of square = 5 X 5
= 25 cm?

10 x 3
30 cm?

Area of rectangle

Area of figure = 25 + 30
= 55 cm?

Method 1

Perimeter of figure =8 + 10 + 3+ 54+ 5+ 5
= 36 cm

Method 2

Perimeter of figure =8 + 10 + 8 + 10
: = 36 cm

Get your child to work out the area of your floor tiles, using a measuring tape.
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o Find the area and perimeter of the trapezium,

6 cm

6 cm

10 cm

14 cm

Area of square = X

= cm?
Area of triangle = X X

= cm?
Area of trapezium = +

= cm?
Perimeter of trapezium = + +
= cm
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| The figure is made up of a square of side 32 cm, an isosceles triangle and a

quadrant. The height of the isosceles triangle is 12 cm and each equal side is
20 cm long. Find the area and perimeter of the figure. Give your answer correct
to 2 decimal places. (Take 7 = 3. 14)

32 cm

|
Area of isosceles triangle = 5 X 12 X 32

= 192 cm?

Area of square= 32 x 32
= 1024 cm?

|
Area of quadrant = 7 X314 x32x 32
= 803.84 cm?

Area of figure= 192 + 1024 + 803.84
= 2019.84 cm?

|
Length of quadrant = 7 X 3.14%x2x32
= 50.24 cm

Perimeter of shaded part= 20 + 20 + 32 + 32 + 32 + 50.24
= [86.24 cm
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i

and perimeter of the shaded part. Give your answer correct to 2 decimal places. wil

The figure shows two semicircles in a rectangle 40 cm by 32 cm. Find the area il

Area of rectangle = 40 x 32 —

= 1280 cm?

Area of the two semicircles = Area of circle 32 cm
=aX |6 X |6

~ 804.248 cm?
Area of shaded part = 1280 — 804.248 40 cm
~ 475.75 cm?

Length of the two semicircles = Circumference of circle - ;
=mrx32 -

-

~ 100.531 cm |

Perimeter of shaded part = 100.531 + 40 + 40 |
~ 180.53 cm

The figure shows two quadrants in a square of side |2 cm. Find the area and J |

perimeter of the shaded part. [Take /1 =¥J ,4_7.2__,| ‘I
Bl i |
I |
Area of square = X = cm? {l
Area of the two quadrants }' P12 cem |
= Area of semicircle 7 cm .} |
I
= X X X f ! | ’
L3 - A
= cm? -

12 em
Area of shaded part = -

= cm?

Length of the two quadrants = Length of semicircle /
= X X

= cm

Perimeter of shaded part = -+ + S E g




Let’s Explore!

Work in pairs:

Draw the rectangle and square on a

piece of paper and cut them out. 3 cm

7 cm § ri

2 cm

: o With the rectangle and the square, form these three types of composite figures.

Figure | Figure 2 Figure 3
e What can you say about the areas of these composite figures?
Work out the area of each figure.

@ Without measuring, can you find the perimeter of each figure?
Work out the perimeter where possible.
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o Find the area and perimeter of the figure.

4 cm B

6 cm

3cm
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o Two squares of side 2 cm are cut out of a % 10 cm
rectangle 10 cm by 5 cm. Find the area and ; Ii
A SR |
perimeter of the remaining figure. o

5cm

2 cm

| o The figure is made up of two rectangles measuring 3cm

7 cm by 3 cm each and a square of side 4 cm.

Find the area and perimeter of the figure. S

4 cm

7 cm

o - Divide the trapezium into a rectangle and @ 7cm
a triangle and find their areas. Hence,

find the area of the trapezium.
6 cm

By dividing the trapezium into two triangles, 10 cm
find its area.

45 cm

16 cm

o Divide the figure into two right-angled triangles o
and find their areas. Hence, find the area of ot 5 cm
the figure.

Find the perimeter of the figure.

12 cm 5cm
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